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QUESTION 1

Refer to the exhibit.

Each branch network must connect to the HQ and other branch networks over the phase 2 DMVPN network using a
single tunnel interface. OSPF is running over the DMVPN network. Which network type is compatible with the DMVPN
tunnel and ensures that the next hop of any route is unchanged?

A. Point-to-point

B. Point-to-multipoint

C. Broadcast

D. Nonbroadcast

Correct Answer: C

QUESTION 2

Refer to the exhibit.
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OSPF ) RIP

Company A is running a single-area OSPF, and Company B is running RIP as the IGP with no overlapping IP address
spaces. Company A has just acquired Company B and both networks must be merged. Which three design components
are recommended to guarantee connectivity and redundancy between the two networks? (Choose three.)

A. Enable mutual redistribution between OSPF and RIP on one border router.

B. Enable mutual redistribution between OSPF and RIP on Router A and Router B using route tags.

C. Increase the administrative distance to 130 for the OSPF external prefixes on Router A and Router B.

D. Implement an ACL on Router A and Router B to prevent OSPF external routes from being installed in the OSPF
database.

E. Filter external routes on Router A and Router B based on route tags.

Correct Answer: BCE

QUESTION 3

Refer to the Exhibit.
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The server is running multiple VLANs on its NIC. Which two Layer 2 features should be applied to the network location
identified by a circle? (Choose two)

A. UDLD

B. BPDU guard
C. BPDU filtering
D. Port Fast

E. Loop guard

F. PortFast trunk

Correct Answer: BF

QUESTION 4

Refer to the exhibit.
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An enterprise has three sites over a Layer 2 Metro Ethernet ELAN service. 100Mb/s and 10 Mb/s links have been
provisioned to provide redundancy for the head office. When OSPF routing enabled to provide connectivity and the
correct bandwidth statement has been applied to each interface, the branch sites observe two equal-cost routes to the
head office. The enterprise wants to send all traffic through the 100 Mb/s link and use the 10Mb/S link strictly as a
backup. Which OSPF network type must be set to ensure that the head office 100 Mb/s circuit is preferred over the 10
Mb/s circuit, at the same time minimize the amount of configuration required on all of the routers throughout the
network?

A. NBMA

B. Point-to-multipoint

C. Point-to-point

D. Broadcast

Correct Answer: C

QUESTION 5

When a multiprotocol routing environment is designed to have several routers redistributing among the routing domains,
how can routing loops be avoided?

A. By implementing spanning tree
B. By activating split horizon

C. By using the AS-path attribute
D. By using route tags

Correct Answer: D
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